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No. | #ERE [ B= (kL) REY FEEREK TRIHISEAT REERER
1 dtiEE 9,900 [8: VT ILTYX Z Ntk HE
2 g 114,832 [5i HAIITYFx ZDih HE

3 dbiEE 114,832 [R i AIINTyFx Z Dt HhE

4 g 114,832 [5i HIILTvEx R Y— B HE

5 dbiEE 114,832 [R i I ILTvFx IR Y—V B EER HhE

6 dbiEE 114,832 [5 i HIILTvFx R Y— B HE

7 dbiEE 114,832 b BT ILTFy¥x R Y—iREER =

8 dbiEE 114,832 [R i I ILTvEx R Y—V RS ZDith
9 dbiEE 114,832 b BT ILTFv¥x R Y—iREER Z D
10 dbiEE 114,832 [R i I ILTvFx R Y—V B ZDith
11 dbiEE 114,832 b BT ILTFy¥x RV —REER Z D
12 dbiEE 114,832 [R i I ILTvFx R Y—V RS hE
13 dbiEE 114,832 b BT ILTFy¥x R Y—REER Z D
14 dbiEE 114,832 [R i I ILTvEx R Y—V RS ZDith
15 dbiEE 114,832 b AT ILTFv¥x R Y—REER Z D
16 dbiEE 114,832 [R i I ILTvEx R Y—V RS ZDith
17 dbiEE 114,832 b AT ILTFv¥x R Y—REER Z D
18 dbiEE 114,832 [R i I ILTvFx R Y—V RS ZDith
19 dbiEE 114,832 b BT ILTFy¥x RV —REER Z D
20 dbiEE 114,832 8 BT ILTy¥x R y—iaiEE Nt
21 JtiEE 114,832 b BFITILTv¥x Ry —REER Z Dt
22 dtiEE 114,900 [&m I ILTvEx IR Y—V B hE
23 JtiEE 114,800 b BFITILTv¥x Ry —iREER HhE
24 dbiEE 114,800 8 BT ILTux R y—iaiEE ZDi
25 JtiEE 114,800 b BFITILTv¥x RV —iREER Z Dt
26 dbiEE 114,900 8 BT ILTux R y—iaiEE Nt
27 JtiEE 114,800 b AITILTyFx Ty BHE HhE
28 dtiEE 114,800 [&m FITINTYFx Ty BHE HhE
29 JtiEE 114,800 b AT ILTyFx Ty BHE HhE
30 dtiEE 114,800 [&m I ILTvEx R Y—2BH#ER hE
31 EHE 65,700 b DUT TR (MERERZY) TR Y—VREER BESIE
32 EHE 98,000 8 SUT LTy (MEREZY) | Ty At BELIE
33 EHE 98,240 KT i DU LT (MEREZY) R V— B ER BESE
34 HEHE 98,130 KT 5| DUT TR (MERERY) TR Y—FH#E8 BELIE
35 EHE 65,700 [& i DU LTYR (MEREZY) [Ty AR BELIE
36 HEHE 65,700 [&/ DUT TR (MERERY) | Ty BEL BELIE
37 EHE 65,700 [& i DU LTYR (MEREZY) [Ty AR BELIE
38 EHE 10,950 AV |V LTyx TYXRER K
39 EHE 98,240 KT i AIINTYFE Ty BHE BELIE
40 HEHE 97,960 KT 5| DUT VTR (MERERY) R Y—ViREER BELIE
41 EHE 65,700 [& i T ITYE Ty BHE BELIE
42 HEHE 19,990 AV Do IILTyE R Y— B ER BELIE
43 EHE 98,060 [& i AIINTYFE Ty BHE BELIE
44 HEHE 97,960 [R i FIINTyFx Ty BHE BELIE
45 EHE 98,240 [& i AIINTYFE Ty BHE BELIE
46 EHE 98,240 [/ BAITINTyFx TYXRER BELE
47 =i R 53,370 82h U LTYR (MERERY) |[TyXBEDR BEHi
48 EHE 98,630 [/ BAITINTyFx TYXRER BELE
49 = 98,240 KT i FIINTYFE TYXBER BESHE
50 TEHE 53,360 hyy DUT TR (MERERZRY) | Ty BEL BELRR
51 =i R 53,370 828 U LTYR (MERERY) |[TyXBEDR BEHi
52 TEHE 65,700 [&H DUT TR (MERERZY) | Ty B#ME BELE
53 EHE 5,540 AV |V T LTy TR BEE 7K
54 EHE 98,060 [/ AITINTyFx TYXRER BELE
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No. | #ERE [ B= kL) AEY FEEREK RIS R E
55 EHE 5,550 AV UL Ty (MERERZY) [Ty EH#E8 'ig‘—“illﬁs"é
56 EHE 65,700 [&m U IITYX R Y—2 B ER %"z%‘ﬂ:
57 MER 35,000 [ m FIINTvEx 11 /E & "i%a)ﬂt
58 MEE 35,000 [&m BT ILTvx IR Y—UBEER Z D
59 =EER 50,000 [5 i HAIINTvFx RAES &S
60 RIE 50,000 Eil I ILTvFx IR Y—UBEER iﬂzT
61 RIEE 4,990 +7Y HIILTvEx R Y—V B ﬂﬂ;f
62 RFR 29,026 AV VUL TyE TE ﬂizi;
63 TR 53,122 +7Y U INT YR R Y— B ﬂﬂg
64 TR 43,049 [R i I ILTvFx R Y—2 B ER ﬂbg
65 KR 125,294 [5 i U INT YR R y—2BH#ER ﬂﬂg
66 TR 123,239 [R i I ILTvFx IR Y—VBEER ﬂbg
67 IR 125,057 [R i U IWT YR R Y—2 B ER iﬁﬂ;
68 R E 153,968 b BT ILTFv¥x R Y—REER ﬂbi;
69 IR 154,410 [R i I ILTvFx R Y—V RS iﬁﬂ;
70 TR 154,743 b U IITYF RV —REER ﬂbi;
71 RIPE 154,918 [R i U IIT YR ZDih iﬁﬂ;
72 TR 97,047 b ST IITYE RV —REER %03}17143
73 RPE 154,580 J& DU LT (MEREZY) R Y— I BHEER ZDith
74 FER 65,000 KT SUTLTYR(MEREERY) R Y—"B#ER BETR
75 FEE 100,000 ] UG NTyR (EEERZY) [HEMH l BR
76 FER 100,000 [l DU TYR (MERERZY) | TyXBME %Io;m
77 FER 100,000 +7Y DU IVTYR (MERERZRY) | Ty B#ME BRI
78 FER 65,000 SoybRE [V LTy (MEREEZY) [HES 7K
79 FEE 100,000 T [PUIATyR (MEEERY) | Z04 Z0fh
80 FER 12,000 +04 T ILTYE Ty BHE =
81 FEE 75,000 [&m U IIWTYE Ty BHE iﬂz%
82 FTER 75,000 [& i T ILTYE Ty BHE =
83 | ARIE 4,253 AV |V TILTux R y—iaiEE %#&?E
84 | MwHEIIE 4,240 AV | IILTyE RY—iBEER f‘*?%*ﬂ
85 | #EIIE 7,927 +7Y U IWT YR Ty BHE f‘#%?FE
86 | MWHEIIE 7,927 C8BH |PoPILTyx RY— B f’?%*ﬂ
87 | #EIIE 9,771 +7Y U IIWTYE R Y—2BH#ER %&Tﬂi
88 | MHEIIE 9,950 +04 ST IILTYE R Y—2BH#ER f‘*?%*ﬂ
89 | #EIIE 9,950 >IY U INTYE TYXRER f‘#%?FE
90 | MHEIIE 9,990 KT i T ILTYE TES ;:‘E%‘ﬂ:
91 | #HEIE 31,593 [&m U IIT YR HTEM ';E%ﬂ:
92 | wHEIE 5217 +04 T ILTYE TR BREE ";E%ﬂs
93 | #EIE 5,576 XLy DU TYR TYXRES BERIB
94 | MwEIE 995 20yl | ILTyE RY— B BETE
95 | #EJIE 3,850 AV |V LTyE TYXBRER gﬁ%‘{t
9% | WEIE 29,051 [& i T ITYE TYXBER i“:“%;FE
97 | #EIE 47,236 825 U INTYE TYXRER gﬁ%‘{t
98 | MWEIIE 34,625 [& i T ITYE Ty BHE i“:“%;FE
99 | #ENIE 27,326 [&/ U ITYE IR Y—VBEER f‘?&’FE
100 | #EJIE 9,800 ARyTim (AT TyF RY— B f“??ﬁﬂ
101 | #EJIE 9,800 AVIY DT ILTyE TYXRER f‘?&’FE
102 | #EJIE 9,800 AV DU T LTy Z D Iﬁ%d)ﬂﬁ
103 | #EJIE 31,291 AVIY [P ILTyE R Y— B ER BELIE
104 | #EJIE 9,276 7Y DU LTYR (MEREZY) [Ty AR ";E%‘ﬂ:
105 | #EJIE 5,000 +I7Y DUT TR (MERERY) | Ty AEL ;E%‘t
106 | #HEIIE 5,000 HIU)Y SV T LTy (MBEEEZY) | Ty aiEE ";E%‘ﬂ:
107 | #EJIE 40,978 oY DUT TR (MERERZY) TR Y—FH#E8 “i%o)ﬂﬂ
108 | #E)IE 46,363 J&f SUTLNTYR (MEREZY) | Ty A BESHE
109 | #ZEJIE 46,363 |8 UG LTYR (MEREEZY) [Ty B BEHiE
110 | #E)IE 46,363 J&f SUTLNTYR (MEREZY) | Ty A BESHE
11 | =g 46,363 |8 UG LTYR (MEREEZY) [Ty B BEHiE
112 | #E)IE 9,800 7Y SUT LT (MEREEZY) [0 BESHE
113 | #E)E 17,420 ;oY [P TyR(MBRERZY) |[FTyXiBIEs BEH1E
114 | #FR)IE 46,363 | FH-FIY [T LToF (MBEREZY) [Ty o BESHE
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No. | ZBEFRR | = (kL) AEY FEEREK RIS REER
115 | #E)IE 3,040 AV VU T LTy R y—2 B B
116 | #HRJIE 18,583 AV [PV LTy (MREEZY) TR S ZNDith
117 | #E)IE 11,256 ER: SUT TR (MEREZY) |TyXEHER K
118 | #HRJIE 72,407 [&/ DUT TR (MERERZY) | Ty EBME K
119 | #E)IE 48,196 [ U IITYE ZDith ZDih
120 | #E)IE 18,583 AV VT LTy (MBRREERY) R Y— RS BESRR
121 | #FRINE 72,407 [&m DU LTyd (MEREZY) [HES Z D
122 | #ERJE 99,263 [&H U INTYX TYXBHE K
123 | #E)IE 48,108 Fo4 DU FLTyR (MEREZY) [F0ih K
124 | #E)IE 72,407 J& UG LTy (MEREZY) [HB& ZNih
125 | #AFRIE 72,428 [&m DU LTyR (MEREZY) [HES Z D
126 | #EIJIE 18,583 [&H DUT VTR (MERERZY) |[Z0Di ZNDith
127 HRE 27,800 [R i HFITITvFx TEM hE
128 HRE 27,700 b AITILTyFx TE®S =
129 BHE 50,000 Eil HFITITvFx TEM ZDith
130 ZHE 55,000 &8 U IITYX TYXBEE BELRR
131 EHE 27,000 KTl DU ITYR (MEREZY) |[ZDM ZNDh
132 =88 67,220 Fo49 UL TyE R — B SR BELIE
133 KERAT 50,000 J& DU LT (MEREZY) R Y— B Ef ZDith
134 RERAF 9,610 >4 DUT VTR (MERERZY) TR Y—VREER Z D
135 NG 15,000 AL [PUT LTy (MEREEZY) TR ZDith
136 KR AT 50,000 [5 i DU VTR (MERERZY) (MES K
137 NG 50,000 [ DU LTYR (MEREZY) R Y—BHEER ER
138 RERAF 110,000 [5 i DU LTYR (MEREZY) [Ty AR BELIE
139 NG 81,320 J& DU IVTYER (MERERY) | Ty BHME BELIE
140 RERAF 8,830 BRm [P Tyx Z Dt Z Dt
141 | FOFLE 9,900 %5 DU VTR (MERERZY) (ME&R BELIE
142 LR 2,000 AV | IILTyE RY—iBEER BELRR
143 LR 3,690 C8FH |PuPIITyx R y—iaiEE BETR
144 LR 108,000 [& i ST IILTYF Ry — B ER BESIE
145 IS 108,000 [&m U IWT YR Ty BHE BELIE
146 i L R 3,690 AV | IILTyE RY— B BELIR
147 IS 3,690 AV |V LTYE R Y—2BH#ER BELIE
148 LR 2,000 AV | IILTyE TES BELIE
149 IS 9,170 C8E4Hn [P FILTyx R Y—2BH#ER ZDith
150 i L R 9,170 C8BH |PoPILTyx R Y—iBEER BELRR
151 LR 48,370 AV |V TILTux R y—iaiEE BETR
152 LR 48,370 AV | IILTyE Ry — B ER BESIE
153 IS 9,190 AVINy LU LTYX R Y— B ER BELIE
154 [IT=]=] 13,395 7Y T IT YR Z D ZDith
155 =]} 48,210 8 U INTYE TYXEHE Z D
156 [IT=]=] 68,247 [& i T ITYE Ty BHE ZDith
157 g 46,822 oY DUT TR (MERERY) R Y—FH#E8 ZNDih
158 =]} 61,200 J& i DU LTYR (MEREZY) [Ty AR ZDith
159 g 46,822 oY DU TR (MERERY) R Y—FH#E8 ER
160 wag 4,555 AVIY | FTNLTvFE R Y — B ER ZDfh
161 g 1,995 Ay |FTILTyFx IR Y—V B EER ZNDih
162 RKHE 25,000 Rl DU LTy (MEREERZY) |[HER Ik
163 PN 10,000 [&/ UL TYR (MEREZRY) |TYXBIEE =15
164 X 100,000 b DUT LTy (MERERZY) |[Z0M HE
165 P 60,000 [&/ DUT TR (MERERY) | Ty B#ME hE
166 X5 # 20,000 504 DU LTYR (MEREZY) [Ty B ER HE
167 RHE 20,000 +IY DUT TR (MERERZY) | Ty B#ME HE
168 RKHR 20,000 AV |V Tyk (MERERZY) [Z0ih HE
169 RoyE 75,000 [ DU LTyR (MERERZY) |HER ZNHh
170 | EIREE | 121,000 [&H UL TYX (MEREEZI T DM GEARD Z D
1711 | ERBER 121,000 [ i UG LTyX (MEREZITOMGEAR) Z D4t
172 | BREBR 121,000 J&m DO NTYR (MEREZAR Y- BET Z Dt
173 | B % 25,000 +IY U ILTYE Z Dt =05
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